Droites Numériques (C)

Complétez cette droite numérique par les nombres manquants.

! ! !
8789 8794

Différence commune:

| |
8799 8809

! !
8819 8824

| | |
6319 6321

Différence commune:

|
6335

| | |
5083 5087

Différence commune:

! ! !
8672 8677

Différence commune:

| | |
7206 7214 7222

Différence commune:

|
7270

| | |
2387 2394 2401

Différence commune:

|
2443

! ! !
5900

Différence commune:

! ! !
4458 4464

Différence commune:

!
4506
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Droites Numériques (C) Réponses

Complétez cette droite numérique par les nombres manquants.

| | |
8784 8789 8794

Différence commune:

! ! !
8799 8804 8809
5

! !
8819 8824

| | |
6319 6321 6323

| | |
6325 6327 6329

Différence commune:

2

|
6335

| | |
5083 5085 5087

Différence commune:

|
5093

|
5099

| | |
8672 8677 8682

| | |
8687 8692 8697

Différence commune:

5

|
8712

| | |
7206 7214 7222

Différence commune:

| | |
7230 7238 7246
8

|
7270

| | |
2387 2394 2401

Différence commune:

|
2422

|
2443

! ! !
5900 5908 5916

| |
5924 5932 15940

Différence commune:

8

|
5964

| | |
4458 4464 4470

Différence commune:

| | |
4476 4482 4488
6

!
4506
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